
Príklad 1: 
 
opakuj 3 [nechfp ? bod 60 ph do 70]  
vp 90 do 70 vp 90 do 70 pd  
opakuj 3 [nechfp ? bod 60 ph do 70 pd] 
 
 

 
 
 
Príklad 2: 
opakuj 4 [do 60 bod 40 ph vp 90 pd] 
 
 
 
 
 
 
 
 

Príklad 3: 
opakuj 4 [nechfp ? do 60 bod 40 ph vp 90 do 40 pd] 
 

 

 

 

Príklad 4: 
opakuj 8[nechfp ? do 25 vl 90 ph do 40 pd bod 60 ph 
 vz 40 vp 90 pd do 25 vp 45 ] 
 
 

 

 

Príklad 5: 
opakuj 4[do 50 bod 60 do 50 bod 20 do 60 vp 90] 
 

 

 

 

 

 
 
Príklad 6: 
opakuj 4[do 50 vl 90 do 50 ph vp 90 do 10 vp 90 pd]  


